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Ldrd.010.001 
Ldrd.009.001 

Both 420pC 

Nrad 70, Nlong 100 

Helmholtz coil Standard solenoid 
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Can’t see ‘S’ 
– all seem 
linear… why 
is this… 

At 1m 

Ldrd.013.001-004 



 < 𝐿𝐿 >= 2𝑝𝑝𝑧𝑧𝜎𝜎1𝜎𝜎2 sin 𝜃𝜃
𝐷𝐷

= 𝐵𝐵𝑧𝑧𝑒𝑒𝑎𝑎02 
 For given magnetization, smaller 𝜎𝜎1, gives 

bigger sin𝜃𝜃 
 Include beamline solenoid 
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ldrd.016.0072.002 
 

0pC 



 Trying not to have 
different B.dl over 
transverse direction. 

Ldrd.017.0072.004 



Normal 

Helmholtz 

Focusing solenoid here 



So even with good helmholtz 
field I can mess it up! 



 Don’t need a fancy magnetizing magnet for 
LDRD 

 We can characterize what we have 
 Need to really understand this with MEIC 



 Phase space after the cathode should be 
ideally perfectly linear 
 

Ldrd.017.0024.004 mag_sol 



Ldrd.018.001-004 
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